Section 4.4
1.

19.
29.
a.
47.
51.

55.

59.
61.

65.

67.

(page 293)
5 3 5

N

-5 5
-2 -5
Positive Zero
L1200 7.-2 9.-% 1ni 131 153 12 -4
-+ - BnE 5% 27+2
w/4 31.2/3/3 3.0 36, 3.1 39.%
20 43.% 45 3¥2/2 = 1.8899
U ~ 64178 49. +arccos V/7/2 =~ +0.4817

53. Average value = %
x=32/2 =~ 0.6300
57. About 540 ft

Average value = 6
x=+/3~+£1.7321
Average value = 2/

x = 0.690, x = 2.451
10

(a) 8 (b) % (c) f,7f(x) dx = 20; Average value = 3
(a) F(x) = 500 sec2x (b) 1500/3/7 ~ 827N
. About 0.5318 L
(a) v = —0.00086¢ + 0.0782¢> — 0.208¢ + 0.10
(b) L (c) 2475.6 m
-10 70
-10
F(x) = 2x* — 7x 69. F(x) = —20/x + 20
FQ2) = -6 F(2) =10
F(5) = 15 F(5) =16
F(8) =72 Fi8) =3

n.

13.

75.
81.
89.
93.

97.
101.

F(x) = sinx — sin 1

F(2) = sin2 — sin 1 = 0.0678

F(5) = sin5 — sin 1 = —1.8004

F(8) = sin8 — sin 1 = 0.1479

(a) g(0) =0,g(2) =7,g(4) =9,8(6) ~8,8@8) =5
(b) Increasing: (0, 4); Decreasing: (4, 8)

(¢) A maximum occurs at x = 4.

d

x

t t + 1
2 4 6 8

IXr+2x T3P —12 79 tanx — 1
x>—2x 83 J/x*+1 85 xcosx 81.8
cos x+/sinx  91. 3x2sin x°©
% 95. (a) C(x) = 1000(12x%/* + 125)

)
(b) C(1) = $137,000
C(5) = $214,721
C(10) = $338,394

An extremum of g occurs
atx = 2.

(a) % ft to the right
(a) 2 ft to the right (b) 2 ft

(b) X6t 99. @ 0ft (b) Gt
103. 28 units 105, 8190 L

107. f(x) = x? has a nonremovable discontinuity at x = 0.
109. f(x) = sec? x has a nonremovable discontinuity at x = /2.

1.

2/m=637% 113. True

'/ — l - _L ——1 3
5. fn) = (1/x)*> + 1( x2> * 2+1 0

117.

Because f/(x) = 0, f(x) is constant.

(@ 0 (b) 0 (c) xf(x) + [5f(t)dr (d) O
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